Operaciones con Enteros (C)

Emplee una estrategia de enteros para encontrar cada respuesta.

-27 x -88 = 94 x 73 = 3774 +-51=
3540 + 60 = 81 x -80 = -1034 +-11 =
51+-1= 63 +6= -23 x 69 =
2204 +-29 = -59+5= -99 - 66 =

64 + -68 = 56 --91= 37 +7=
-21-37 = -71+-40 = 42 x-11 =
-9024 + 96 = 60 +-45 = 2600 +-52 =
-40 --38 = -23+31= 10+5=
-29--29 = 49 +-14 = 3760 +-94 =
-52 x -95 = 4753 +49 = -56 + 44 =
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Operaciones con Enteros (C) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

-27 x -88 =
=2376

3540 + 60 =
=59

51+-1=
=50

2204 +-29 =
=-76

64 + -68 =
=-4

-21-37 =
=-58

-9024 - 96 =
=-94

-40 - -38 =

-52 x-95 =
= 4940

94 x 73 =
= 6862

81 x -80 =
=-6480

63+6=
=69

-59+ 5=

49 +-14 =
=35

4753 +49 =
=97

3774 + -51 =
=74

-1034 +-11 =
=94

-23 x 69 =
=-1587

-99 - 66 =
=-165

-37+7 =
=-30

42 x -11 =
=-462

2600 + -52 =
= -50

10+5=
=15

3760 +-94 =
=-40

56 + 44 =
12
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